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ii)
Binary Relation
A binary relation R from set x to y (written as x R y or R(x,y)) is a subset of the Cartesian product x×y. If the ordered pair of G is reversed, the relation also changes.
Examples: 
If A = {1, 2, 3} and B = {4, 5}, then {<1, 4>, <2, 5>, <3, 5>}, for example, is a binary relation from A to B. 
However, {<1, 1>, <1, 4>, <3, 5>} is not a binary relation from A to B because 1 is not in B. 
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Instructions to Candidates: -

Attempt all questions. Marks of questions ar=

ilicated against each section.

Q. 1 Answer the following question in 1-2 lines. (1x5=5)
i) Polynomial function
ii) Ceiling function
ii1) Floor function
iv) Mod function
v) Absolute function

Q. 2 Answer the following questions in £0 words each. (2x2=4)
i) Explain Products of Mappings or composite of functions with example.
ii) Explain Binary Relation with example

Q. 3 Answer the following questions in 100 words each. (3x2=6)
i) Explain the Pigeonhole Principle Theorem and also Generalized Pigeonhole Principle

Theorem.
ii) Define the Constant Function and Proof the following Theorem.

The logarithmic function f(x)= log () is the inverse of the exponential function 2(x) =ax.

Q. 4 Answer the following questions in 150 words. (5x1=5)
i) Explain the Matrix Representation of graph. Find the Adjacency Matrix and Incidence Matrix
of the given graph.
OR .
i) GivenA=1{1,2,3,4 1, consider following relation in A.

R={(@,1(2,2)(2,3)(3,2).(4,2 (4,4)}

Find (i) R2=RR

a1
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